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ENGLISH VERSION

Instructions :
(1) All questions carry equal marks.
(2) Answer all the questions on the basis of internal option.

1  Explain the meaning of average cost and marginal cost 14
and clarify the inter-relationship between them.

OR
1  Explain the concept of fixed cost and variable cost. 14
2  Explain the meaning of production cost and its types. 14
OR
2  Explain the law of diminishing return. 14
3  Explain the advantages and disadvantages of 14
expansions size of firm and industry.
OR
3  Explain the why does the issue of price determination 14

of factors of production is separately thought ?

4 “Profit is a result of innovation” — Discuss. 14
OR
4  “Rent is incurred if there is surplus over transfer 14

earnings.” - Examine the statement with reference of modern
theory of rent.

5 Write short notes : (any two) 14
(1) Limitations of the marginal productivity theory of
distribution.

(2) The difference between gross profit and net profit.
(3) Risk theory of profit.
(4) The meaning and definitions of profit.
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